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General Instructions:
Read the following instructions carefully and follow them:

l. This questions paper contains 30 questions. All questions are compulsory.
1. Question paper is divided into five sections A, B, C, D and E.




Il. Section A Questions no. 1 to 17 are Multiple Choice type questions. Each question carries 1 mark.

V. Section B Questions no. 18 and 19 are Source-based questions. Each question carries 3 marks.

V. Section C Questions no. 20 to 23 are Short Answer type questions. Each question carries 3 marks.
Answer to these questions shall be written in 80 to 100 words.

VI. Section D Questions no. 24 to 28 are Long Answer type questions. Each question carries 5 marks.
Answer to these questions shall be written in 120 to 150 words.
VII. Section E Questions no. 29 and 30 are Map-based questions. Each question carries 5 marks.

Questions No. 1 to 17 are Multiple Choice questions.

1. Which on of the following is not an industry based on Ownership?

I Small Scale.
1. Private Sector.
1. Public Sector.

V. Joint Sector.
2. Match the following.
Region Animal
A. Reindeer. 1. Andes.
B. Llamas. 2. Tropical Africa.
C. Camel. 3. Sahara.
D. Cattle. 4. Arctic.

l. A-2, B-4, C-1, D-3.
Il. A-3, B-2, C-4, D-1.
. A-4,B-1, C-3, D-2.
V. A-1, B-3, C-2, D-4.

3. Two statements are given below. Statement | and Statement Il. Read the following statement and

choose the correct answer.

Statement |: Footloose industries does not depend on any specific raw material, weight losing.
Statement Il: They produce in large quantity and also employ a large labour force.

Choose the correct answer from below:
I Both Statements are true.
. Neither Statement | nor Statement Il is true.
II. Statement | is correct and Statement Il is False.
V. Statement | is False and Statement Il is True.
4. The road Autobahns is located in which country?

I U.K.

Il USA.
II. France.
V. Germany.

5. By which pass Trans-Continental rail route link Buenos Aires (Argentina) and Valparaiso (Chile)?

I Uspallatta.
I Black Bear Pass.
II. Zojila Pass.
V. Jelep La Pass.
6. Match the following.

River Ports
A. Rhine. 1. Kolkata.
B. Hoogli. 2. Memphis.
C. Mississippi. 3.  Mannheim.
I A-1, B-2, C-3.

Il A-2,B-1, C-3.




1. A-3, B-1, C-2.
V. A-1, B-3, C-2.
7. Which of the following statement is not true about the Plantation Agriculture.
I It is associated with large estate.
Il Scientific method is used in Plantation Agriculture.
M. Cheap labour is required.
V. Multi Crop specialisation.
8. Two statements are given below. They are Assertion (A) and Reasoning (R). Read the following
statement and choose the correct answer.
Assertion (A): The Number of Pastoral Nomads is decreasing and the areas operated by them shrinking.
Reasoning (R): imposition of political boundary and new settlement plans by different countries.
Choose the correct answer:
I Both (A) and (R) are true and (R) is the correct explanation of (A).
Il Both (A) and (R) are true and (R) is incorrect explanation of (A).
M. (A) is true and (R) is false.
V. (A) is false and (R) is true.
9. Two statements are given below. Statement | and Statement Il. Read the following statement and
choose the correct answer.
Statement I: India have 22 Schedule languages.
Statement Il: Speaker of Bengali have the highest percentage among schedule languages.
Choose the correct answer from below:
I Both Statements are true.
. Neither Statement | nor Statement Il is true.
. Statement | is correct and Statement Il is False.

V. Statement | is False and Statement Il is True.
10. Arrange the following states by decreasing population density.
A. Bihar.
B Uttar Pradesh.
C. Kerala.
D West Bengal.

Arrange according to their decreasing population density.

I A, B,C,D.
. A, D, C, B.
1. A, C, D,B.
V. A, B,D,C.
11. Which of the following is the headquarter of Central Railway zone.
I Kolkata.
Il Mumbai CST.
Il. New Delhi.
V. Allahabad.
12. Which of the following state is not associated with Konkan Railway.
I Goa.
Il. Karnataka.
M. Kerala.
V. Maharashtra.
13. The characteristics of a mineral in India are given below. Read them carefully and identified the
mineral.
e Itis mainly used in the electrical and electronics industry.
e It can be split into very thin sheets while are tough and flexible.
¢ Inlindiaitis produced in Jharkhand, Andhra Pradesh, Telangana and Rajasthan.

Minerals.




l. Iron.

. Bauxite.

1. Mica.

V. Copper.

14. The characteristics of a crop in India are given below. Read them carefully and identified the crop.

e [tis atropical plantation crop.
e [ts seeds are roasted, ground and are used for preparing a beverage.
e Karnataka is the leading producer in India.

Crops.

l. Tea.

1. Coffee.
Il. Rubber.
V. Cotton.

Read the given graph and answer the questions from 15 to 17.
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15. Name the most populous country from Africa.
I Mexico.
Il Indonesia.
Il. Pakistan.
V. Nigeria.
16. Which is the third most populous country in Asia.
I India.
. China.
II. Indonesia.
V. Pakistan.
17. Out of top 10 most populous country in the world how many are in the Asia.
I 4.
I. 5.
M. 8.

Section-B
Questions no 18 and 19 are Source based questions.

18. Study the given map and answer the following.




18.1. Which two seas were connected by the Canal.

18.2. In which year the canal was constructed.

18.3. Mention the importance of the canal.

19. Read the passage and answer the question below.

Bharmaur tribal area comprises Bharmaur and Holi tehsils of Chamba district of Himachal Pradesh. It is a
notified tribal area since 21 November 1975. Bharmaur is inhabited by ‘Gadd/’, a tribal community who
have maintained a distinct identity in the Himalayan region as they practised transhumance and
conversed through Gaddiali dialect.

Bharmaur tribal region has harsh climate conditions, low resource base and fragile environment. These
factors have influenced the society and Economy of the region. According to the 2011 census, the total
population of Bharmaur sub-division was 39,113 i.e., 21 persons per sq. km. It is one of the most
(economically and socially) backward areas of Himachal Pradesh. Historically, the Gaddis have
experienced geographical and political isolation and socio-economic deprivation. The economy is largely
based on agriculture and allied activities such as sheep and goat rearing.

19.1. Under which five years plan the tribal sub plan was introduced for Bharmaur?

19.2. Mention one social benefit of the Integrated Tribal Development Programme?

19.3. Mention the reason for decline in pastoralism in the Bharmaur region?

Section-C

Questions no 20 to 23 are short answer type questions.
20. Explain the evolution of towns in India?
21. “The spatial distribution of religious communities in the country shows that there are certain states
and districts having large numerical strength of one religion, while the same may be very negligibly
represented in other states”. Explain.

Or
The distribution of Urban population has a wide variation throughout the country. Explain with
example.
22. Explain how population is one of the major factors driving international trade?
23. Explain the dualism in Geography?

Or
Explain about the Welfare school of thought in Human Geography?

Section-D
Questions no 24 to 28 are long answer questions.




24. Describe about the types of industries on the basis of raw materials with examples?
Or

Describe the major tourist attraction. Explain the factors affecting tourist.

25. Explain the major approaches to the Human Development?

26. Describe about the agriculture of Fibre crops in India?
Or

Explain the major problem faced by Indian agriculture?

27. Describe how Indian cities are facing a serious problem of solid wastes?

28. Explain about the Changing Patterns of the Composition of India’s Import?

Or
Describe about the development of India in Mass Communication System.

Section-E
Questions no 29 and 30 are map based questions.

29. On the given political map of the World, seven geographical features have been
marked as A, B,C, D, E, Fand
G. Identify any five with the help of the following information and write their correct
names on the lines drawn near each feature.

A. Aninternationalairport.

A major seaport.

An area of Nomadic Herding.

Region of extensive commercial grain farming.

An important inland waterway.

m m o o w

An area of commercial livestock rearing.

G. Aninternationalairport.

30. Locate and label any five of the following geographical features on the Political Outline
map of India with appropriate symbols:

A. Mayurbhanj- An iron mine.
State with lowest population density.
The state leading in production of coffee.
An important coal mine in Tamil Nadu.
An important sea port in Gujrat.
An international airport in West Bengal.
A Bauxite mine in Madhya Pradesh.
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